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Q. 4,000 =9 FT 10 Tqerd aTio a€ T 2
Y T FTYTLOT SATST ST hioTT —
Q. Find the simple interest on Rs 4,000
at 10% per annum for 2 years.

(a
AN (b) 80
(
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Q. TF G, T AT 61 2 F 10
FUT H 7Y T IN[AT BT SITAT g1 ST i 3

ST ST |

Q. A sum of money doubles itself in 10
years at simple interest. Find the rate of (1)

Interest.
( > 10%
(2) 2%

(3) 5%
(4) 8%
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Q. fFaa 97 § 8% AT I Fl =<

ATETIOT TS, HALG T (2/5) FRIT?
Q. In what time will the simple interest
be (2/5) of the principal at 8% per

annum? (1) 7 %

(\/ "—D 3 Jyears
it gl 2) 5 Tt
N (2)

/years
(3) 8 3w
/years
(4) 6 au
/years
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Q. 14600 T FT 8% AT h sFTST =l T
T 150 Tae T FTLTLOT SATST 4T gIIT ?
Q. What will be the simple interest on
Rs 14600 for 150 days at 8% per
annum?

(MR

480
<\ 2D) > (2) 3
520
(3) 2
600
(4) 2
400
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Q. 9% AT T | Tl T1 &7 4 97
T AT =47 7200 g, 98 T 2 ?
Q. The simple interest on a sum of
money in 4 years at 9% per annum is

7200, what is the sum? (1)
/ 10,000

(::) > N
SN 20,000

(3) X
15,000

(4) X

25,000
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Q. T Gl Thet FTETIOT s47ST it AT 3 & 10 a9 |
T T AT BT SATAT gl T8t G IAAT 21 AT ST
il 3T | Tohad T80T | T3 6T IRET g1 ST ?

Q. A sum of money doubles itself at a certain rate of
simple interest per annum in 10 years. In how much
time will the same sum become four times of itself at
the same rate ogs eSterest’? (1) 20

f= Fu/years
\ )\ (2) 25
Fu/years
(3) 30
Fu/years
(4) 40
Fu/years



1I1T2ToT CTET / STET 2023 [UPTET-2021]

Q. 600 TIF =T 1T AT AT 9 4 a9 F 720 &0
2l STl &, TTa ATST ol a¥ 2% @7 &f 1T Al ag T
FAT g7

Q. A sum of Rs. 600 amount to be Rs. 720 in 4
year by simple interest what be its amount if the

. . o
rate of interest is m\ycase\/ by 2% ? (1) % 792
(= (2) X 768

(3)X 724

(4)X 748
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Q. v 797 ¥ 16(2/3)% T T i &<

q GTYTIT AT, AL T (5/6) T2

Q. At what time will the simple interest at
the rate of 16(2/3)% per annum be (5/6)
of the principal ?

(1) 6
\‘/C'_ N/ J9/years
20 L (2)5

Fu/years
(3) 7
Fu/years
(4) 4
Fu/years
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Q. 78 g9, T 14% AMUF X F 2 U H
2520 &I GTLTIOT TS A Toid ¥l g, A

=5
Q. A sum which will earn a simple
interest of Rs. 2520 at 14% per annum in(1) "

2 years Is: / N
(;p@>f> 9000
N (2) 3

10800
(3) X
7900
(4) <
7880
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Q. F2 LT GTITIOT TS ol Teh (H 1% 2

5997 § 600 9T 3T 7 997 § 640 €9 1 ST
g, a1 98 &L AT hirord?

Q. A sum of money amounts to Rs 600 in 5
years and Rs 640 in 7 years at a certain rate

of simple interegt find that sum?

(1)
500
(2) X
540
(3) X
480
(4) X
450
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Q. T fAterd Tier 9% 7% At 3 99l & (o7 qrgm
ST, 9% TTTUR 2 TUT o (1T AT AT F 60 T
e g ar 9g T A1 hitory ?

Q. The simple interest on a certain sum at 7% per
annum for 3 years is Rs 60 more than the simple
interest at 9% per annum for 2 years, then find that
sum? ‘s “_j\/ (1) %
iRt glt 2000
S (2) %
1500
(3)R
1800
CI
1700
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Q. TATITIIT TS i X 9% T 7.5%

et =ik T 450 9 &t g+ 3idl
ANBEEREIR IR RSIGETS

= N
ASIGIRES

g, Sl

Q. When the rate of simple interest changes
from 9% to 7.5% a person loses Rs 450, find

the amount inve

(1)
25000
(2) X
30000
(3) X
20000
(4) X
18000
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Q. T 4200 T TF AL FT X% ATTHF T 9

3(2/3) T | FTATIT T g1 HIe= T 5586 &
STTAT 21 (2x+1)/2 T 4T /19 & ?
Q. A sum of ¥ 4200 amounts to ¥ 5586 at x%

per annum at simple interest in 3(2/3) years.
What is the value of (2x+1)/2 ?

(
( w (2) 8.5
ot (3) 9

(
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Q. TRET gt 9T 12% ATTe sl & & 2(1/2) T T AT
SATST IET G T 8% ATINH hl &< & 4(1/2) T 6 HTATLIT
ST 9 % 600 ¥ gl 98 g9 B

Q. The simple interest on a certain sum for 2(1/2) years at
12% per annum is X600 less than the simple interest on

the same sum for 4(1/2) years at 8% per annurpa;-ﬂﬂ_:mmozz]
the sum is:

(1)
20,000

(2) X
16,000

(3) X
10,000

(4) T 8,000
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Q. T At e &7 (1/2) 977 20 Taerd 34T & 9 39T
[T STTAT g1 & 19T T (2/5) AT 25 Taerd sFTef 3¢ I
ST AT ATAT 21 A7 T 10 TA9rd sATsT 3L I AT &b
STt 81 A7) 2 a9 o o et TTr 9 ITH 9Te1or s34 720
SO g, AT TIA T 87

Q. (1/2) of a certain sum is lent at 20 percent rate of
interest. (2/5) of the remaining sum is lent at 25 percent
rate of interest. The remaining sum is lent at 10 E

rate of interest. If the mpTe rest received on
sum for 2 years is Rs 726‘ what is the sunzb) %

1000
(C) R
2000

total
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Q. = 19T ATLTT SATST i (ohdl &€ 9¥ 8 T H
AT sl AT &1 SITAT g1 SHT AT ST sl 3¢ 9L qg
fehee AT | T &t AT AT &l STt ?

Q. A sum of money doubles itself in 8 years at a
certain rate of simple interest. In how many years
will it become four times of itself at the same rate

of simple interest? (1) 16

(2) 20
(3) 24
(4) 32







